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
Time : 2 Hours        [Maximum Marks : 70

Note :This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed

instructions given therein. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be issued.

  



        

         

       
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Section–A / 

(Long Answer Type Questions) /  

Note :Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. Give below are the data for marks in mathematics

and accounts in a certain examination. Obtain the

two regression equations.

  Maths Accounts

Mean Marks    75   70

Standard Deviation    06   08

Coefficient of correlation (r = + 0.72)



       
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      

     

     

  (r = + 0.72)

2. Discuss the relative advantages and disadvantages of

the census and sampling methods of collection of

Statistics. Explain the different sampling methods.

      
        
   

3. The following table gives indices of industrial pro-

duction and number of registered unemployed people

(in lakh). Calculate the value of Pearson's correlation

coefficient from this table:

(3) P.T.O.A-0497

Year
Index

of
Production

Number
of

unemployed

1991

1992

1993

1994

1995

1996

1997

1998

100

102

104

107

105

112

103

99

15

12

13

11

12

12

19

26



     

    

        



4. Briefly discuss the statistical system used in

India. What are the major statistical data processed

under preview. Statistical system of India?

  

       

        


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(5)

5. Explain the uses of index number. What points should

be taken into consideration in the construction of

index number?

       

   

Section–B / 

(Short-Answer-Type Questions) /  

Note : Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.

        (4×8=32)

    (08)      

      (08)   

  (04)  

 

1. What is meant by regression? How does it differ

from correlation?

         

 

A-0497 P.T.O.



2. Discuss briefly the practical utility of time series

analysis.

      

   

3. Distinguish between primary and secondary data.

       

4. Find out median in the following series.

S. No:- 1    2    3    4     5    6    7    8

Marks:- 7    9   10   18   20   28   30  40

     

 1    2    3    4     5    6    7    8

 7    9   10   18   20   28  30  40

5. How kurtosis describes the degree of concentration

of frequencies (observations) in a given distribution?

Discuss.

A-0497 (6)





       

6. Which points must be considered while constructing

graphs? State.

    

   

7. What is meant by 'Central Tendency'?

     

8. Discuss the importance of statistics.

     

****************
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